QD action blower & equipment

GT1400

Hermetic Gas Booster

U

LISTED

Installation, Operation, Maintenance

Manual



[ ! \ SAFETY INSTRUCTIONS

1.

2.

Do not operate before reading the enclosed instruction manual.

Use adequate protection, warning and safety equipment necessary to protect against hazards involved in installation
and operation of this equipment.

L : \ SAFETY WARNINGS

1.

2.

3.

Keep hands and clothing away from rotating machinery, inlet and discharge openings.
Gas booster mounting bolts must be secured.

Noise level may require ear protection.

/Y\ SAFETY PRECAUTIONS

1.

2.

It is important that all personnel observe safety precautions to minimize the chances of injury.

Internal rotating parts of the gas booster can produce serious physical injuries. Do not reach into any opening in the
gas booster while it is operating, or while subject to accidental starting.

Disconnect power before doing any work, and avoid bypassing or rendering inoperative any safety or protective de-

vices.
Avoid extended exposure in close proximity to machinery with high intensity noise levels.
Use proper care and good procedures in handling, lifting, installing, operating, and maintaining the equipment.

Avoid exposing the gas booster to any pipe tests involving high pressure air. The gas booster is rated to 10 PSIG maxi-
mum operating pressure. The booster should be isolated from the system during any such tests or removed from the

system entirely.

Other potential hazards to safety may also be associated with operation of this equipment. All personnel working in
or passing through the area should be warned by signs and trained to exercise adequate general safety precautions.



INTRODUCTION

Congratulations on your purchase of a new GT1400 Gas Booster from Action Blower & Equipment. Please examine the gas
booster for shipping damage, and if any damage is found, report it immediately to the carrier. If the gas booster is to be
installed at a later date, make sure it is stored in a clean, dry location free from dirt, contaminants, extreme temperatures,
and vibration. Inlet and discharge connections should remain capped.

INSTALLATION

f WARNING: Customers are cautioned to provide adequate protection, warning and safety equipment necessary to
* ) protect personnel against hazards involved in the installation and operation of this equipment in the system or
facility.

HANDLING

All GT1400 Gas Boosters have been tested at the factory before shipment. The gas booster is a balanced and sealed assem-
bly. Extreme care should be taken during handling to ensure the booster’s integrity is not compromised.

BASE

The GT1400 Gas Booster should be mounted to either a level concrete floor or equipment pad or attached to a steel base/
frame that is mounted to a level concrete floor or equipment pad. The gas booster should be lagged to the floor or base
using the provided mounting holes.

LOCATION

The GT1400 Gas Booster should be installed in a cool, dry location free from dirt and other contaminants. Ample space
should be allowed on all sides of the gas booster to provide sufficient access for inspection and maintenance.

PIPING

Inlet and discharge piping connections are large enough to handle maximum volume with minimum friction loss. All
attempts should be made to provide adequate size piping to the gas booster to minimize friction loss.

Be sure that all piping is clean internally before connecting to the gas booster.

Flexible connections should be used to connect to the gas booster’s inlet and discharge to isolate any vibration from the
system piping.

All piping must be properly supported with suitable brackets, hangers, supports, etc. Piping must not be supported by the
gas booster.

Avoid exposing the gas booster to any pipe tests involving high pressure air. The gas booster is rated to 10 PSIG maximum
operating pressure. The booster should be isolated from the system during any such tests or removed from the system
entirely.

Installation of the GT1400 without flexible connections and/or without properly supported piping will void the gas boost-
er’s warranty. Exposure of the gas booster to pressures above 10 PSIG will also void the gas booster’s warranty.

ELECTRICAL

Electrical connections to the gas booster should be made only by a licensed electrician. All federal, state, and local electri-
cal codes should be followed.

Wiring of the GT1400 Gas Booster’s motor should be performed according to the motor’s wiring diagram for the applicable
input voltage.



It is recommended that the GT1400 Gas Booster be controlled using a booster control panel from Action Blower &

Equipment. Ifa booster control panel is not used, a VFD or soft starter must be used in order to maintain the gas

booster’s limited warranty.
ROTATION
The rotation of the impeller should be in a clockwise direction when observing from the inlet of the gas booster. Rotation

may be determined by observing the rotational direction of the motor fan at the back of the motor. For packaged

booster systems, the rotation is pre-set at the factory.

OPERATION

The GT1400 Gas Booster is designed to be controlled by a VFD. This enables the GT1400 to provide a variety of flow and
pressure boost conditions in a single package. A number of different control techniques are available in order to provide
the best solution for each application. Some typical control techniques include the following:

1. PID control—This method of control is used when the demand for gas varies greatly over time. A pressure transmitter
is used near the load. The pressure transmitter feeds a pressure signal back to the control panel. This signal is used
to adjust the speed of the gas booster accordingly to maintain a constant pressure.

2. Constant speed with remote start— This method of control is used when the demand for gas is relatively constant but
is not always needed. A remote signal is sent to the gas booster when a demand for gas pressure arises (boiler, burn-
er, etc. starts). The speed of the gas booster has been preset using the VFD to properly accommodate the demand.

There are many other types of control including a combination of the two listed above as well as various types of control
for duplex (2 x gas booster) systems. For various control techniques and recommendations, please contact Action Blower
& Equipment.

LUBRICATION / MAINTENANCE

f' E The GT1400 is virtually a maintenance free design. Motor and blower bearings are lubricated for the life of the gas
“2 booster. All seals are static so they will not wear.

PIPING ORIENTATION

Warning: The motor shaft contains a magnetic coupling. This coupling provides over 70 Ibs of magnetic force. While
adjusting the orientation, the motor mount should be kept as close to the motor as possible to keep the coupling pro-
tected. If exposed directly to metal objects, the coupling can result in serious bodily injury and/or damage to equip-
ment.

The GT1400 is available in three discharge configurations—upward vertical, horizontal lower, and horizontal upper. The
configuration may be changed using the following procedure:

1. With proper support underneath the gas booster housing (1), remove the four socket head cap screws that attach
the motor mount (5) to the motor (15).

2. Rotate the gas booster assembly to achieve the desired configuration and reinstall the four socket head cap screws.

3. Before removing any bolts from the front cover (2), clamp the front cover to the housing to ensure the o-ring seal is
not disturbed.

4. Remove the support (7) from the front cover (2) by removing the three hex head cap screws.



5. Remove the three hex head cap screws that are now in the three lower positions.
6. Attach the support (7) in the correct position to support the housing using the 1-3/4” long hex head cap screws.

7. Install the remaining three 1-1/2” long hex head cap screws in the three open holes where the support used to be
located. Note: 1” long hex head cap screws are used for the two threaded holes near the discharge.

ASSEMBLY / DISASSEMBLY

Any disassembly of a GT1400 Gas Booster by anyone other than Action Blower & Equipment factory authorized service
representatives will void all warranties. Any alterations or repairs to the GT1400 Gas Booster must be made by the
manufacturer or their designated representative.

TROUBLESHOOTING

If the GT1400 is not delivering the required pressure, follow the following troubleshooting steps:
1. Adjust the blower speed by use of the VFD (depending on control method).
2. Check rotation. Correct by switching any two of the three motor leads.

3. Ensure that the impeller is turning. Because the impeller is magnetically coupled to the motor, it is possible that
the motor is turning but there is an obstruction preventing the impeller from turning. Clear the obstruction to al-
low the impeller to turn freely.

4. Ensure that piping connecting the GT1400 to the gas supply and the load are adequate to prevent high frictional
loss.

If the GT1400 is experiencing drive faults, refer to the VFD manual to address the specific type of fault. Some typical
troubleshooting steps are as follows:

1. Make sure wiring and voltage applied to system are correct.

2. Make sure that there are no obstructions preventing the impeller from turning.

If the GT1400 is vibrating or making excessive noise, the following items should be checked:

1. Check for damage to the blower housing and impeller.

2. Ensure all bolts are tightened properly.

3. Make sure there are adequate flex connectors at the inlet and discharge of the gas booster.

4. Make sure connected piping is adequately supported so it is not putting unnecessary torque or stress on the gas
booster.



O @EE@®®® D (@



Item No. Part Number Description Quantity

1 GT140022 Housing 1
2 GT140023 Front cover 1
3 GT140005 Impeller 1
4 GT140006 Sleeve 1
5 GT140008 Motor mount 1
6 GT140028 Solid barrier 1
7 GT140020 Support 1
8 GT140027 Magnetic coupling halves 2
9 GT140045 Impeller retainer 1
10 GT140031 6006 ball bearing 2
11 GT140009 Shaft 1
12 GT140030 .1875 x 1.575 key 2
13 GT140021 SH-118 retaining ring 1
14 GT140037 10-32 x .375 set screw 1
15 GT140026 143TC 1.5HP motor 1
16 GT140032 2-281 o-ring 1
17 GT140034 3/8-16 x 3.5 socket head cap screw 4
18 GT140033 3/8-16 x 1 socket head cap screw 7
19 GT140036 3/8-16 x 1.75 hex head cap screw 3
20 GT140046 3/8-16 x 1 hex head cap screw 2
21 GT140041 5/16-18 x 1.25 hex head cap screw 4
22 GT140038 3/8 SAE washer 12
23 GT140039 3/8 lock washer 20
24 GT140040 3/8-16 nut 10
25 GT140042 5/16 SAE washer 8
26 GT140043 5/16 lock washer 4
27 GT140044 5/16-18 nut 4
28 GT140035 3/8-16 x 1.5 hex head cap screw 7
29 GT140019 Pedestal 1
30 GT140029 Gasket 2




S3l

V/N Jvos TIOT 133us GTOZ/0S/L0 aiva| GNYW3ANON¥NLZY OL LO3rENS SI ANV SYIHLO OL AILLINENS ¥O 'd3DTINAID 'd3IdOD
39 LON LSNN ANV TVILNIAIANOD SI LI "ONI ‘LNIANdINOT ® 43IMO19 NOILOV 40 AL¥3d0Odd
HNY A€ A3NOYddY JHL 34V NOIHIHL NMOHS SNOISFA ANV NOILVINHOANI FHL ANV ONIMVYHA SIHL
0 Bmp-aIed av abexoed isisoog seo d
HNY A9 d3axXO3HO
ON 95Mad EVAIS
ASL HNY A9 NMYHA
mEmuw\nw 1s00g se9 g pue y wm@.mv_o.mn_ ‘arsd
J1LIL
"‘@3ddNS 9NI39 LNIANDINOT 40 SINIWIHINOTY IHNSSTHd
UC_ C C@EQ_de ;®>>O CO_ Uo SNOIFVA ANV ALILNYNO NO ONIANIdIA WILSAS 1SO0d SYO FHL 40 WYIHLSNMOA SHOLYINDIY F1dILTNN IAVH AVIA SWILSAS FNOS
. M . @ _D M ‘NOILVTIVLSNI NO ONIAN3Id3A SIANTVA A14d311Nd J0 SINTVA ONd 39 AVIA SIATVA NOILVY10SI
S3ONVY3I0L ‘a3d1INO3Y SI SYO A31S0049 NIHM ATNO NNY OL ¥31S004d SYD SMOTTV "013 ¥3ANYNE ‘*H317109 WOH4 TYNDIS NNd
‘d3LVvOIANI SY T1aNVd TOHLNOD Ol d3dIM SINIFNNGLSNI ANV 431S004d SVO 'd3LVOIANI SV SINFLI IANTONI d ANV V S3OVIHOVd
‘'NOILIANOD
FINLVHIdNTL HOIH NOdN INFLSAS NMOALNHS ANV 3dNLVYHIdNTL 431S00d SYO 3SN3S OL 37TdNODONHIHL ST1VIIANI L
"HOLIMS NMOALNHS FdNSS3dd MOT S3LVIIANI T1Sd
'IADNVO FUNSSIUd V Sl 2d ‘d NFLSAS HO4 "HIALLINSNVYL IUNSSIAUd V Sl 2d 'V WILSAS
¥0O4 '3YNSSI™d AILVINODIY STLVYIIANI €d ‘IONVYD FYNSSIHd AILSO0d SILVYIIANI 2d ‘IONVYD FINSSTHd ONINOOINI SILVYIIANI Td
‘013 "¥3IANYNE *¥I09 V ONIQIT4 43LS004d SVO J04 dNL3S TVIIdAL STLVILISNONIA NVHOVIA
"ONIFIM TvOId 10313 31VOIANI S3ANIT A3IHSYA "ONIdld SYO TVHNLVYN 31LVOIANI SINIT dINOS
r—-———— - - -—" - - - -—"=-=—--—--"=--=-"=»-=-==-"-=»-"-=-=-"==--""—"-=«H-"-—- - \F-—"&«f"¥&¥«\"--¥—F «f VY VY VYV V—_— VT /7
JATVA NOILVIOSI
HLIM SSYdAgG T¥YNOILdO
ANTVA H31S00g SYO ANTVA ANTVA
d01v1N93d HOLD3INNOD NOILV1OSI HOLD3INNOD HOLD3INNOD NOILVI0SI MO3IHD HOLD3INNOD
SVO IVHNLVYN IVYNOILdO X314 SVO IVHNLVYN I9HVHOSIA X314 X314 137NI 137NI X314
a3lvino3d a31soog @) I —
: : : | | | | |
213 ‘4aNyng ‘¥31og AVAY AVAY ™\ AVAY

AVAV

JHUNSS3IHd A3 LLINSNVYHL

h o

FHINSS3Hd MO

IVNOIS

13NVd TO4d1INOD | —

013 "*Y3aANYNG ‘¥31104d
NOY4 TVNOIS NN 431S004d SVO

a3n0dddv 3lva NOILdIYOS3d

A3

SNOISIAZY

HOLMS 3dNSS3dd INOYH TTVYNOIS
NMOALNHS 34NSS3dd MO

_
_
_
_
_
_
_
_
_
_
_
_ NI SVO TvdN1VN
_
_
_
_
_
_
_
_
_
_
_

LNdNI 43MOd TvOId10313

O-dao

© N O o

< 0

N




V/N TWos TIOT i33us GT0Z/72/90 aiva| _GNYWIANO N¥NLIY OL LOICANS SI ANV SHIHLO OL AILLINGNS ¥O ‘GIDINAIC ‘G310
38 LON 1SN ANV TYILNIAIINOD S LI "ONI *LNIWAIND3I ® ¥3IMO18 NOILOY 40 ALIJOdd

HNY A€ A3NOYddY JHL 34V NOIHIHL NMOHS SNOISFA ANV NOILVINHOANI FHL ANV ONIMVYHA SIHL
._H Bmp aled O abexoed Jaisoog seo
HNY Ad d3aNDO3IHD
ON 95Mad EVAIS
AEL HANY Ad NMvYdd

Wwa1IsAS 1s00g se9) D abexoed ‘aled

A7LIL
SUI .MC®EQ_DU® JOMO|Q UOIPD ‘31ddNS ONIZF ININDINDT 40 SLNIWIHINOTY TINSSTYd
! ! @ _Q ! SNORIVA ANV ALILNYNO NO ONIANTIIA WILSAS 1SO0E SVO THL 40 WYIHLSNMOA SHOLYINOTY T1dILTNN IAVH AVIN SWILSAS IWOS 6
S3ONVYITOL "NOLLYTIVLSNI NO ONIANIIA STATVA ATHTLLNG HO STATVA ON1d 39 AV STATVA NOILYTOSI '8
‘@3-INOIY SI SYO @3LS008 NIHM ATNO NNY OL ¥ILS009 SYO SMOTTV "OLT ¥INYNG ‘¥ITI09 WOH4 TWNOIS NNY 2
‘Q3LVOIANI SV ¥3LS008 SVO OL aIHIM TANVd TOHLNOD SIANTONI D IOVSOVd 9
"NOILIINOD
JYNLVHIANTL HOIH NOdN WILSAS NMOALNHS ANY F¥NLYHIdNTL ¥31S008 SYO ISNIS OL T1dNODOWHIHL TYNOILAO STLVOIANI L 'S
"HOLIMS NMOALNHS IYNSSTd MOT SALYIIANI 1Sd ¥
‘IYNSSTYd AILYINOTY STLYOIANI £d ‘TONVO TUNSSTHA AILSO0D SALYOIANI 2d ‘IONYD THNSSTHd ONINOONI STLVOIANI Td '€
'013 "Y3NYNG "¥I0E V ONIATTH ¥ILSO0E SYO ¥OH dNLIS TvOIdAL STLVHLSNOWIA WVHOVId 2
"ONIYIM T¥DI4L0T73 ILYDIANI SINITAIHSYA "ONIdid SYO IVHNLYN ILYOIANI SINITAMoS T
S3LON
IATVA NOILVIOSI
HLIM SSVYdAS TYNOILdO
Fr————— =

IATVA IATVA IATVA

) HOLVINO3Y ) NOILY10SI HOLD3ANNO d31S008 Svo HOLDANNOD NOILY10SI NEe)

SVO TYENLYN VNOILJO SO TYHNLYN 394VHOSIA X314 X374 13N 13N

a3LvINoy d3Lsoog b _—

.. . |
213 *¥3aNYNg ‘¥31108 % AVAV

|
_
_
_
e e “ (IYNOILdO)
_
_
_
_
_
_
_
_
_

| I~ |
NI SVO TVHNLYN
A ﬁ H AN JUNSSTU MO

|

HOLIMS 3dNSS3dd INOHd TYNOIS NMOALNHS 34NSS3dd MO

13NVd TO4d1INOD | —

0) m_muAv_Od\n_

013 "H3ANYNE ‘Y3709 WO TVNOIS NNY ¥3LS004d SVO

a3aav 3ANIT SSVdAgG ANV €d ‘*HOLVINO3IY — -

HINd ST/0E/L0 ‘ITdNODONYIHL TVNOILHO ‘SONILLIH X34

d3noydddvy 31va NOILdIYOS3a A3Y LNdNI 43MOd 1vOId103713

SNOISIAZY




T40T

"ANVINIA NO NYNL3Y OL 123rdNS SI ANV SY3HLO OL d3LLINENS HO ‘a3IDTNAIC ‘a3Id0D

"ONINNNY SI HOLVHINTO FHL NIHM ATTNO NNY O1 ¥31S004d SVO SMOTTV dOLVHINTO NOYd TVNOIS NNd - "9
"d3MOd dNXOVE 3AINOHd OL

3719V SI dOLVHINTO 3404349 ANV LSO SI 43MOd d314V FNIL 40 dOId3d FHL 404 431S004d SVO OL d3MOd S3AINOHd SdN

431S004d SvO

)

S
'HOLIMS NMOALNHS 3dNSS3Idd MO1SILVOIANITISd v
‘IONVO IINSST™Ud ILSO0d STALVYIIANI 2d ‘IDNVD FINSSIHd ONINOONI STLYOIANI Td '€
"HOLVHANTO dNXMOVE V ONIdI3d4 431S0049 SVO d04 dN13S TVOIdAL STLVHISNONIA AVHOVIa ¢
"ONIFIM TVOId 103713 FLVOIANI SANIT Ad3IHSVA "ONIdid SYO TVHNLVYN 3LVOIANI SIANITAITos T

ON

IATVA NOILVTOSI L3TINI AATVA XNOFHD L3TINI

T13NVd TO41INOD

Sdn

% "™\ NI SYO TVHNLYN

|

HOLIMS JdNSS3dd INOYd TYNOIS NMOALNHS 3dNSS3dd MO'1

V/N 31v0s 133HS ¥T10¢/8¢/T0  3iva -
39 LON 1SN ANY TVILNIAIANOD SI LI "ONI ‘LNIWINO3I B ¥3MOT18 NOILOY 40 AL¥IdOdd
HWH A8 GIAGHAAY JHL 34V NOIYIHL NMOHS SNOISIA ANV NOILYAMOANI IHL ANV ONIMYHEA SIHL
O Bmp Al d JoreIauas) 181s00g seo m
HINY A9 A3IHOIHD
ON 9Ma 3zis
A3 HINY A8 NMYHEA
J0jesaua9) dnyoeg Jo} WalsAS 1soog seo ‘ared
31LIL
U1 quewdinbe B Jemojq oD
’ ’ ’ S3ONVHITI0L
AATVA NOILVY10SI 39dVHOSIA
1Nd1NO d3IMOd dNXOVE A3LVHINID
e — dOLVvdaNID H
HOLVHINTD INOYHd TYNODIS NNY 4315009 SVO
d31S004d SVYO d04d daMOd dNHOVE A3 LVHINID
a3A0YddY 31va NOILdI¥0S3A AZY
SNOISIATY

LNdNI 43MOd TvOId1LO3713 ISVHJ ITONIS




LIMITED WARRANTY

Action Blower & Equipment warrants all new complete units that are manufactured by Action Blower & Equipment to
be free from defects in material and workmanship for a period of 24 months from date of shipment of the product from
Action Blower & Equipment. Action Blower & Equipment warrants that all manufactured replacement parts from Action
Blower & Equipment for the GT1400 Gas Booster will be free from defects in material and workmanship for a period of
180 days from date of shipment of the product from Action Blower & Equipment. Any factory rebuilt equipment will be
warranted to be free from defects in material and workmanship for a period of 180 days from date of shipment of the
product from Action Blower & Equipment.

If within that period, Action Blower & Equipment receives from purchaser written notice of any alleged defect in, or non
-conformance of any product, and in the sole judgment of Action Blower & Equipment, the product does not conform or
is found to be defective in material or workmanship, then the purchaser shall, at the request of Action Blower & Equip-
ment, return the part or product FOB Action Blower & Equipment. At its option and expense, Action Blower & Equip-
ment shall repair or replace the defective part or product. Dismounting and reinstallation of defective or nonconform-
ing parts is done at the purchaser’s expense. Action Blower & Equipment’s sole responsibility and purchaser’s exclusive
remedy hereunder shall be limited to such repair or replacement as provided above.

The warranties of Action Blower & Equipment do not cover:
1. Failures not reported to Action Blower & Equipment within the warranty period specified above.

2. Failure or damage due to misapplication, abuse, improper installation, abnormal conditions of temperature, con-
taminants or other corrosive matter.

3. Failure due to damage due to operation, either intentional or otherwise, above rated capacity or in an otherwise
improper manner.

4. Products that have been tampered with or altered in any way by anyone other than an authorized representative of
Action Blower & Equipment.

5. Products damaged in shipment or otherwise without fault of Action Blower & Equipment.
6. Expensesincurred by purchaser in an attempt to rework or repair any alleged defective product.

Action Blower & Equipment’s sole responsibility and purchaser’s sole and exclusive remedy with respect to any breach
of warranty under this agreement shall be limited to repair and/or replacement. Action Blower & Equipment’s total
responsibility and liability for any and all claims, damages of any nature, losses, liabilities or costs of corrective efforts,
including but not limited to those relating to any warranty or guarantee arising out of, or related to performance of this
agreement or the products covered hereunder, or the performance thereof shall not exceed the original product’s pur-
chase price. In no event shall Action Blower & Equipment be liable for any special, indirect, incidental or consequential
damages of any kind, including but not limited to loss of use of productive facilities or equipment, lost profits, personal
and property damage, expense incurred in reliance on Action Blower & Equipment performance hereunder, or lost pro-
duction, whether suffered by purchaser or any third party. Action Blower & Equipment disclaims all liability for any and
all costs, claims, demands, charges, expenses or other damages, either direct or indirect, incidental to all property dam-
ages arising out of any cause of action based on strict liability. Freight charges on warranty replacements are the sole
responsibility of the purchaser.



	GT1400 Manual less exploded view.pdf
	GT1400 exploded view for manual.pdf
	Gas Booster Package AB P&ID rev 0 07.30.15.pdf
	Gas Booster Package C P&ID rev 1 07.30.15.pdf
	Gas Booster Generator P&ID rev 0 01.28.14.pdf

